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QUESTION 1

Which statement describes the "cylinder" in the disk drive?

A. where the data is stored or retrieved

B. Used to read or write data on to the disk media

C. Used to seek to the area where the requested data is located\\'
D. A group of concentric slices through the physical disks.

Correct Answer: D

QUESTION 2

What is the maximum distance of a 50- micrometer multimode fibre with a 850nm shortwave laser at 2 Gbps?
A. 500 meters

B. 300 meters

C. 150 meters

D. 70 meters

Correct Answer: B

QUESTION 3

In an FC SAN environment, what are two ways to protect data on an array connected by a switch to multiple hosts?
(Choose two)

A. LUN masking
B. zoning

C. drive encryption
D. SSL and TLS
E. partition keys

Correct Answer: AB

QUESTION 4

Which host adapter configuration parameters is set to create redundant logical "paths" between the server and the
storage device?
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A. LUN-pathing
B. Zone-pathing
C. Multiplathing
D. Cluster failover paths

Correct Answer: C

QUESTION 5

Which tier provides highest availability and highest performance?
A. tier 4

B. tier 3

C. tier 2

D. tier1

Correct Answer: D
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